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The formulae below may be of use to you.
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Extra space if required.
Write the question number(s) if ap
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Extra space if required.
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Extra space if required.
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Extra space if required.
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Scholarship exemplar 2022

Subject:

Physics NZS 93103 Total score: | 21

standard:

Score

Annotation

Shows an adequate grasp of quantisation without being clear in the
detail. Does not recognise the difference in scale between the laser
cavity and the wavelength of visible radiation. Shows a scholarship
level grasp of a multi-level calculation marred only by a minor error
and shows a clear understanding of aspects of momentum change
despite some apparent confusion in terminology.

Failed to realise that only information about the wind’s change of
momentum is supplied while only managing a rudimentary vector
subtraction without advancing to the consequences. However the
candidate did show understanding in stability arguments, calculations
and the effects of tipping.

Shows scholarship level grasp of components, induction and
calculation skills. Misreading of part of the question led to errors and a
final disappointment in failing to recognise the significance of constant
rotational velocity.

Scholarship levels performance throughout this question marred only
by an arithmetic slip and a failure to grasp the significance of a
displaced centre of mass.






